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QUESTION 1

On the Storage Navigator frame for a TrueCopy pair operation, the "Status" column indicates PDUB. What is the status
of the pairs indicating PDUB? 

A. This is a TrueCopy LUSE status of a pair suspended error. 

B. This status indicates that the TrueCopy pair is in the initial copy. 

C. One or more LDEV pairs are SMPL on a TrueCopy LUSE volume. 

D. The status of the TrueCopy software LUSE volume is in the initial copy. 

Correct Answer: C 

 

QUESTION 2

A customer is planning to use bi-directional synchronous TrueCopy for Disaster Recovery on several mission critical
applications between two sites 40km apart connected by DWDM. What is required before replication can take place? 

A. Journal disk space must be installed on both arrays. 

B. FCIP channel extenders must be in place and functional. 

C. Sufficient buffer credits must be available on the switches at both sites. 

D. Two CCI servers must be configured with network connectivity between them. 

Correct Answer: C 

 

QUESTION 3

Your customer must decide which Three Data Center (3DC) Business Continuity Solution configuration meets
expectations. Which 3DC configuration is accurate? 

A. 3DC Multi-target with a Journal Group on all three USPs. 

B. 3DC Multi-target with a Journal Group on each of two USPs. 

C. 3DC Pass-Through Cascade with a Journal Group on two USPs. 

D. 3DC Pass-Through Cascade with a Journal Group on three USPs. 

Correct Answer: A 

 

QUESTION 4

On the Storage Navigator frame for a TrueCopy pair operation, the "Status" column indicates PDUB. What is the status
of the pairs indicating PDUB? 
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A. This is a TrueCopy LUSE status of a pair suspended error. 

B. This status indicates that the TrueCopy pair is in the initial copy. 

C. One or more LDEV pairs are SMPL on a TrueCopy LUSE volume. 

D. The status of the TrueCopy software LUSE volume is in the initial copy. 

Correct Answer: C 

 

QUESTION 5

A customer has purchased an Hitachi Storage Cluster (HSC) for Microsoft Environments. Which component is
included? 

A. VBS scripts 

B. Microsoft Cluster 

C. Hitachi VSS Agent 

D. Hitachi client for Microsoft Exchange 

Correct Answer: A 
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